






Construction of a new generalization for n -polynomial convexity with their certain inequalities

Mahir Kadakal^{*1} , İmdat İşcan² , Huriye Kadakal³ 

¹Bayburt University, Faculty of Applied Sciences, Department of Customs Management, Baberti Campus, 69000, Bayburt-Türkiye

²Department of Mathematics, Faculty of Arts and Sciences, Giresun University, 28200, Giresun-Türkiye

³Bayburt University, Faculty of Education, Department of Primary Education, Baberti Campus, 69000 Bayburt-Türkiye

Abstract

In this paper, we first construct a new generalization of n -polynomial convex function. That is, this study is a generalization of the definition of " n -polynomial convexity" previously found in the literature. By making use of this construction, we derive certain inequalities for this new generalization and show that the first derivative in absolute value corresponds to a new class of n -polynomial convexity. Also, we see that the obtained results in the paper while comparing with Hölder, Hölder-İşcan and power-mean, improved-power-mean integral inequalities show that the results give a better approach than the others. Finally, we conclude our paper with applications containing some means.

Mathematics Subject Classification (2020). 26A51, 26D10

Keywords. convex function, n -polynomial convexity, generalized n -polynomial convexity, Hermite-Hadamard inequality, Hölder-İşcan integral inequality

1. Preliminaries and fundamentals

Let $S : I \rightarrow \mathbb{R}$ be a convex function. Then the inequalities

$$S\left(\frac{\lambda + \delta}{2}\right) \leq \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \leq \frac{S(\lambda) + S(\delta)}{2} \quad (1.1)$$

hold for all $\lambda, \delta \in I$ with $\lambda < \delta$. This double inequality is well known as the Hermite-Hadamard (H-H) inequality [6]. Some refinements of the H-H inequality for convex functions have been obtained [5, 16].

Additionally, readers can refer to [1, 3, 8, 11, 15] and the references in these papers to learn about different convexity classes and how to find the Hermite-Hadamard integral inequalities of these classes.

In [13], Tekin et al. gave the following definition and related H-H integral inequalities as follow:

*Corresponding Author.

Email addresses: mahirkadakal@gmail.com (M. Kadakal), imdati@yahoo.com (İ. İşcan), huriyekadakal@hotmail.com (H. Kadakal)

Received: 01.02.2022; Accepted: 15.11.2023

Definition 1.1 ([13]). Let $n \in \mathbb{N}$. A non-negative function $S : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is called n -polynomial convex if for every $\lambda, \delta \in I$ and $t \in [0, 1]$,

$$S(t\lambda + (1-t)\delta) \leq \frac{1}{n} \sum_{s=1}^n [1 - (1-t)^s] S(\lambda) + \frac{1}{n} \sum_{s=1}^n [1 - t^s] S(\delta). \quad (1.2)$$

Theorem 1.2 ([13]). Let $S : [\lambda, \delta] \rightarrow \mathbb{R}$ be a n -polynomial convex function. If $\lambda < \delta$ and $S \in L[\lambda, \delta]$, then the following H - H type inequalities hold:

$$\frac{1}{2} \left(\frac{n}{n + 2^{-n} - 1} \right) S \left(\frac{\lambda + \delta}{2} \right) \leq \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \leq \left(\frac{S(\lambda) + S(\delta)}{n} \right) \sum_{s=1}^n \frac{s}{s+1}. \quad (1.3)$$

The following inequality is known as Hölder-İşcan integral inequality:

Theorem 1.3 ([7]). Let $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$. If K, L are real functions defined on $[\lambda, \delta]$ and if $|K|^p, |L|^q$ are integrable on interval $[\lambda, \delta]$ then

$$\begin{aligned} & \int_{\lambda}^{\delta} |K(z)L(z)| dz \\ & \leq \frac{1}{\delta - \lambda} \left\{ \left(\int_{\lambda}^{\delta} (\delta - z) |K(z)|^p dz \right)^{\frac{1}{p}} \left(\int_{\lambda}^{\delta} (\delta - z) |L(z)|^q dz \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left(\int_{\lambda}^{\delta} (z - \lambda) |K(z)|^p dz \right)^{\frac{1}{p}} \left(\int_{\lambda}^{\delta} (z - \lambda) |L(z)|^q dz \right)^{\frac{1}{q}} \right\}. \end{aligned} \quad (1.4)$$

The following inequality is known as improved power-mean integral inequality:

Theorem 1.4 ([10]). Let $q \geq 1$. If K, L are real functions defined on $[\lambda, \delta]$ and if $|K|, |K||L|^q$ are integrable on interval $[\lambda, \delta]$ then

$$\begin{aligned} & \int_{\lambda}^{\delta} |K(z)L(z)| dz \\ & \leq \frac{1}{\delta - \lambda} \left\{ \left(\int_{\lambda}^{\delta} (\delta - z) |K(z)| dz \right)^{1 - \frac{1}{q}} \left(\int_{\lambda}^{\delta} (\delta - z) |K(z)||L(z)|^q dz \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left(\int_{\lambda}^{\delta} (z - \lambda) |K(z)| dz \right)^{1 - \frac{1}{q}} \left(\int_{\lambda}^{\delta} (z - \lambda) |K(z)||L(z)|^q dz \right)^{\frac{1}{q}} \right\}. \end{aligned} \quad (1.5)$$

Motivated by [13], we construct Definition 2.1 which seems to be a new generalization of n -polynomial convex function. By making use of this definition, we derive certain inequalities for this new generalization and show that the first derivative in absolute value corresponds to a new class of n -polynomial convexity. Also, we see that the obtained results in the paper while comparing with Hölder, Hölder-İşcan and power-mean, improved-power-mean integral inequalities show that the results give a better approach than the others. Finally, we conclude our paper with applications containing some means.

2. The construction of generalized n -polynomial convex functions

In this section, we introduce a new concept, which is called generalized n -polynomial convexity and then we give some algebraic properties for the generalized n -polynomial convex functions.

Definition 2.1. Let be $n \in \mathbb{N}$ and $a_i \geq 0$ ($i = \overline{1, n}$) such that $\sum_{i=1}^n a_i > 0$. A non-negative $S : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is called generalized n -polynomial convex function (or we can also called

as (a_1, a_2, \dots, a_n) -polynomial convex) if for every $\lambda, \delta \in I$ and $t \in [0, 1]$,

$$S(t\lambda + (1-t)\delta) \leq \frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} S(\lambda) + \frac{\sum_{i=1}^n a_i (1-t^i)}{\sum_{i=1}^n a_i} S(\delta), \quad \sum_{i=1}^n a_i > 0. \quad (2.1)$$

The class of all generalized n -polynomial convex functions on I is denoted by $GPOLC(I)$. Every generalized n -polynomial convex function is a h -convex with

$$h(t) = \frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i}.$$

Therefore, if $f, g \in GPOLC(I)$, then

i.) $f + g \in GPOLC(I)$ and for $c \in \mathbb{R}$ ($c \geq 0$) $cf \in GPOLC(I)$ (see [14], Proposition 9).

ii.) if the functions f, g be a similarly ordered on interval I , then $fg \in GPOLC(I)$. (see [14], Proposition 10).

Also, if $f : I \rightarrow J$ is a convex and $g \in GPOLC(J)$ and nondecreasing, then $g \circ f \in GPOLC(I)$ (see [14], Theorem 15).

Researchers can look at [2, 9, 14] for studies about h -convexity.

Remark 2.2. If we take $n = 1$ in (2.1), then the generalized 1-polynomial convexity reduces to the classical convexity.

Remark 2.3. If we take $a_i = 1$ ($i = \overline{1, n}$) in (2.1), then the generalized n -polynomial convexity reduces to the n -polynomial convexity.

More generally, we can give the following remark together with proof:

Remark 2.4. Every nonnegative convex function is also a generalized n -polynomial convex.. Indeed, this case is clear from the following inequalities

$$\sum_{i=1}^n a_i (1-t)^i \leq \sum_{i=1}^n a_i (1-t) \quad \text{and} \quad \sum_{i=1}^n a_i (1-t) \leq \sum_{i=1}^n a_i (1-t^i)$$

for all $t \in [0, 1]$ and $n \in \mathbb{N}$.

Example 2.5. $f : (0, \infty) \rightarrow \mathbb{R}$, $f(x) = x^m$, $m \in (-\infty, 0) \cup [1, \infty)$, is a generalized n -polynomial convex function.

Theorem 2.6. Let $\delta > \lambda > 0$ and $K_\alpha : [\lambda, \delta] \rightarrow \mathbb{R}$ be an arbitrary family of generalized n -polynomial convex and let $K(x) = \sup_\alpha K_\alpha(x)$. If $J = \{u \in [\lambda, \delta] : K(u) < \infty\}$ is nonempty, then J is an interval and K is a generalized n -polynomial convex function on J .

Proof. Let $t \in [0, 1]$ and $x, y \in J$ be arbitrary. Then

$$\begin{aligned} & K(t\lambda + (1-t)y) \\ &= \sup_\alpha K_\alpha(t\lambda + (1-t)\delta) \\ &\leq \sup_\alpha \left[\frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} K_\alpha(\lambda) + \frac{\sum_{i=1}^n a_i (1-t^i)}{\sum_{i=1}^n a_i} K_\alpha(\delta) \right] \\ &\leq \frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} \sup_\alpha K_\alpha(\lambda) + \frac{\sum_{i=1}^n a_i (1-t^i)}{\sum_{i=1}^n a_i} \sup_\alpha K_\alpha(\delta) \\ &= \frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} K(\lambda) + \frac{\sum_{i=1}^n a_i (1-t^i)}{\sum_{i=1}^n a_i} K(\delta) < \infty. \end{aligned}$$

□

3. H-H inequality for generalized n -polynomial convex functions

In this section, we will establish some inequalities of H-H type for the generalized n -polynomial convex functions. We will denote by $L[\lambda, \delta]$ the space of (Lebesgue) integrable functions on $[\lambda, \delta]$.

Theorem 3.1. *Let $S : [\lambda, \delta] \rightarrow \mathbb{R}$ be a generalized n -polynomial convex function. If $\lambda < \delta$ and $S \in L[\lambda, \delta]$, then the following H-H type inequalities hold:*

$$\begin{aligned} & \frac{1}{2} \left(\frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n a_i \left[1 - \left(\frac{1}{2}\right)^i\right]} \right) S\left(\frac{\lambda + \delta}{2}\right) \\ & \leq \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \leq \left[\frac{S(\lambda) + S(\delta)}{\sum_{i=1}^n a_i} \right] \sum_{i=1}^n a_i \left(\frac{i}{i+1}\right). \end{aligned} \quad (3.1)$$

Proof. Here, we will use the property of the generalized n -polynomial convex function of S . So, we have

$$\begin{aligned} & S\left(\frac{\lambda + \delta}{2}\right) \\ & = S\left(\frac{1}{2}[t\lambda + (1-t)\delta] + \frac{1}{2}[(1-t)\lambda + t\delta]\right) \\ & \leq \frac{\sum_{i=1}^n a_i \left[1 - \left(1 - \frac{1}{2}\right)^i\right]}{\sum_{i=1}^n a_i} S(t\lambda + (1-t)\delta) + \frac{\sum_{i=1}^n a_i \left[1 - \left(\frac{1}{2}\right)^i\right]}{\sum_{i=1}^n a_i} S((1-t)\lambda + t\delta) \\ & = \frac{\sum_{i=1}^n a_i \left[1 - \left(\frac{1}{2}\right)^i\right]}{\sum_{i=1}^n a_i} [S(t\lambda + (1-t)\delta) + S((1-t)\lambda + t\delta)]. \end{aligned}$$

By taking integral in the last inequality with respect to $t \in [0, 1]$, we deduce that

$$S\left(\frac{\lambda + \delta}{2}\right) \leq \frac{2}{\delta - \lambda} \frac{\sum_{i=1}^n a_i \left[1 - \left(\frac{1}{2}\right)^i\right]}{\sum_{i=1}^n a_i} \int_{\lambda}^{\delta} S(z) dz.$$

By using the property of the generalized n -polynomial convex function S , if the variable is changed as $z = t\lambda + (1-t)\delta$, then

$$\begin{aligned} & \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \\ & = \int_0^1 S(t\lambda + (1-t)\delta) dt \\ & \leq \int_0^1 \left[\frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} S(\lambda) + \frac{\sum_{i=1}^n a_i (1 - t^i)}{\sum_{i=1}^n a_i} S(\delta) \right] dt \\ & = \frac{S(\lambda)}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 [1 - (1-t)^i] dt + \frac{S(\delta)}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 [1 - t^i] dt \\ & = \left[\frac{S(\lambda) + S(\delta)}{\sum_{i=1}^n a_i} \right] \sum_{i=1}^n a_i \left(\frac{i}{i+1}\right), \end{aligned}$$

where

$$\int_0^1 [1 - (1-t)^i] dt = \int_0^1 [1 - t^i] dt = \frac{i}{i+1}.$$

□

Remark 3.2. In case of $n = 1$, the inequality (3.1) coincides with the the inequality (1.1).

Remark 3.3. In case of $a_i = 1$ ($i = \overline{1, n}$) the inequality (3.1) coincides with the the inequality (1.3)

4. New inequalities for generalized n -polynomial convex functions

In this section, we will establish new estimates that refine H-H inequality for functions whose first derivative in absolute value is a generalized n -polynomial convex function. Dragomir and Agarwal [4] used the following lemma:

Lemma 4.1 ([4]). *Let $S : I^\circ \rightarrow \mathbb{R}$ be a differentiable mapping on I° , $\lambda, \delta \in I^\circ$ with $\lambda < \delta$. If $S' \in L[\lambda, \delta]$, then the following identity holds:*

$$\frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz = \frac{\delta - \lambda}{2} \int_0^1 (1 - 2t) S'(t\lambda + (1 - t)\delta) dt. \tag{4.1}$$

Theorem 4.2. *Let be $S : I \rightarrow \mathbb{R}$ be a differentiable function on I° , $\lambda, \delta \in I^\circ$ with $\lambda < \delta$ and assume that $S' \in L[\lambda, \delta]$. If $|S'|$ is a generalized n -polynomial convex function on interval $[\lambda, \delta]$, then the following inequality holds for $t \in [0, 1]$.*

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \left[\frac{(i^2 + i + 2) 2^i - 2}{(i + 1)(i + 2) 2^{i+1}} \right] A(|S'(\lambda)|, |S'(\delta)|), \end{aligned} \tag{4.2}$$

where $A(u, v) = (u + v)/2$ is the arithmetic mean.

Proof. From Lemma 4.1 and

$$|S'(t\lambda + (1 - t)\delta)| \leq \frac{\sum_{i=1}^n a_i (1 - (1 - t)^i)}{\sum_{i=1}^n a_i} |S'(\lambda)| + \frac{\sum_{i=1}^n a_i (1 - t^i)}{\sum_{i=1}^n a_i} |S'(\delta)|,$$

we get

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \int_0^1 |1 - 2t| |S'(t\lambda + (1 - t)\delta)| dt \\ & \leq \frac{\delta - \lambda}{2 \sum_{i=1}^n a_i} \left(|S'(\lambda)| \sum_{i=1}^n a_i \int_0^1 |1 - 2t| (1 - (1 - t)^i) dt \right. \\ & \quad \left. + |S'(\delta)| \sum_{i=1}^n a_i \int_0^1 |1 - 2t| (1 - t^i) dt \right) \\ & = \frac{\delta - \lambda}{\sum_{i=1}^n a_i} \sum_{s=1}^n a_i \left[\frac{(i^2 + i + 2) 2^i - 2}{(i + 1)(i + 2) 2^{i+1}} \right] A(|S'(\lambda)|, |S'(\delta)|), \end{aligned}$$

where

$$\int_0^1 |1 - 2t| [1 - (1 - t)^i] dt = \int_0^1 |1 - 2t| [1 - t^i] dt = \frac{(i^2 + i + 2) 2^i - 2}{(i + 1)(i + 2) 2^{i+1}}.$$

□

Corollary 4.3. *Taking $n = 1$ in (4.2), we have the following inequality:*

$$\left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \leq \frac{\delta - \lambda}{4} A(|S'(\lambda)|, |S'(\delta)|). \tag{4.3}$$

This coincides with the inequality in [4, Theorem 2.2].

Corollary 4.4. Taking $a_i = 1$ ($i = \overline{1, n}$) in (4.2), we have the following inequality:

$$\left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \leq \frac{\delta - \lambda}{n} \sum_{i=1}^n \left[\frac{(i^2 + i + 2) 2^i - 2}{(i+1)(i+2)2^{i+1}} \right] A(|S'(\lambda)|, |S'(\delta)|). \quad (4.4)$$

This coincides with the inequality in [13, Theorem 5].

Theorem 4.5. Let $S : I \rightarrow \mathbb{R}$ be a differentiable function on I° , $\lambda, \delta \in I^\circ$ with $\lambda < \delta$, $q > 1$, $\frac{1}{p} + \frac{1}{q} = 1$ and assume that $S' \in L[\lambda, \delta]$. If $|S'|^q$ is a generalized n -polynomial convex function on interval $[\lambda, \delta]$, then the following inequality holds

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left(\frac{2}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \frac{i}{i+1} \right)^{\frac{1}{q}} A^{\frac{1}{q}}(|S'(\lambda)|^q, |S'(\delta)|^q), \end{aligned} \quad (4.5)$$

where A is the arithmetic mean.

Proof. Using Lemma 4.1, Hölder's integral inequality and the following inequality

$$|S'(t\lambda + (1-t)\delta)|^q \leq \frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} |S'(\lambda)|^q + \frac{\sum_{i=1}^n a_i (1-t^i)}{\sum_{i=1}^n a_i} |S'(\delta)|^q, \quad (4.6)$$

which is the generalized n -polynomial convex function of $|S'|^q$, we get

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\int_0^1 |1 - 2t|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 |S'(t\lambda + (1-t)\delta)|^q dt \right)^{\frac{1}{q}} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \int_0^1 \sum_{i=1}^n a_i (1 - (1-t)^i) dt \right. \\ & \quad \left. + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \int_0^1 \sum_{i=1}^n a_i (1-t^i) dt \right)^{\frac{1}{q}} \\ & = \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left(\frac{2}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \frac{i}{i+1} \right)^{\frac{1}{q}} A^{\frac{1}{q}}(|S'(\lambda)|^q, |S'(\delta)|^q), \end{aligned}$$

where

$$\begin{aligned} \int_0^1 |1 - 2t|^p dt &= \frac{1}{p+1}, \\ \int_0^1 [1 - (1-t)^i] dt &= \int_0^1 [1 - t^i] dt = \frac{i}{i+1}. \end{aligned}$$

□

Corollary 4.6. If we take $n = 1$ in (4.5), we get the following inequality:

$$\left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \leq \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} A^{\frac{1}{q}}(|S'(\lambda)|^q, |S'(\delta)|^q). \quad (4.7)$$

This coincides with the inequality in [4, Theorem 2.3].

Corollary 4.7. *If we take $a_i = 1$ ($i = \overline{1, n}$) in (4.5), we get the following inequality:*

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left(\frac{2}{n} \sum_{i=1}^n \frac{i}{i+1} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q). \end{aligned} \tag{4.8}$$

This coincides with the inequality in [13, Theorem 6].

Theorem 4.8. *Let $S : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function on interval I° , $\lambda, \delta \in I^\circ$ with $\lambda < \delta$, $q \geq 1$ and assume that $S' \in L[\lambda, \delta]$. If $|S'|^q$ is a generalized n -polynomial convex function on $[a, b]$, then the following inequality holds*

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{1 - \frac{2}{q}} \left(\frac{1}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \frac{(i^2 + i + 2) 2^i - 2}{(i+1)(i+2)2^{i+1}} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q), \end{aligned} \tag{4.9}$$

where A is the arithmetic mean.

Proof. Firstly, let $q > 1$. By using the Lemma 4.1, Hölder inequality and the property of the generalized n -polynomial convex function of $|S'|^q$, we obtain

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\int_0^1 |1 - 2t| dt \right)^{1 - \frac{1}{q}} \left(\int_0^1 |1 - 2t| |S'(t\lambda + (1-t)\delta)|^q dt \right)^{\frac{1}{q}} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{1 - \frac{1}{q}} \left[\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 |1 - 2t| [1 - (1-t)^i] dt \right. \\ & \quad \left. + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 |1 - 2t| [1 - t^i] dt \right]^{\frac{1}{q}} \\ & = \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{1 - \frac{2}{q}} \left(\frac{1}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \frac{(i^2 + i + 2) 2^i - 2}{(i+1)(i+2)2^{i+1}} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q). \end{aligned}$$

For $q = 1$, the proof of the Theorem 4.2 is followed step by step. □

Corollary 4.9. *Under the assumption of Theorem 4.8 with $q = 1$, we have the conclusion of Theorem 4.2.*

Corollary 4.10. *Taking $n = 1$ in (4.9), we get the following inequality:*

$$\left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \leq \frac{\delta - \lambda}{4} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q). \tag{4.10}$$

The obtaining inequality for $q = 1$ coincides with in [12, Theorem 1].

Corollary 4.11. *If we take $a_i = 1$ ($i = \overline{1, n}$) in the inequality (4.9), we get the following inequality:*

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{1 - \frac{2}{q}} \left(\frac{1}{n} \sum_{i=1}^n \frac{(i^2 + i + 2) 2^i - 2}{(i+1)(i+2)2^{i+1}} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q). \end{aligned} \tag{4.11}$$

This inequality coincides with the inequality in [13, Theorem 7].

Now, we will prove the Theorem 4.5 by using Hölder-İşcan inequality. Then we will show that the result we have obtained in this theorem gives a better approach than that obtained in the Theorem 4.5.

Theorem 4.12. Let $S : I \rightarrow \mathbb{R}$ be a differentiable function on I° , $\lambda, \delta \in I^\circ$ with $\lambda < \delta$, $q > 1$, $\frac{1}{p} + \frac{1}{q} = 1$ and assume that $S' \in L[\lambda, \delta]$. If $|S'|^q$ is a generalized n -polynomial convex on interval $[\lambda, \delta]$, then the following inequality holds

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \tag{4.12} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} \right)^{\frac{1}{q}}. \end{aligned}$$

Proof. If we use Lemma 4.1, Hölder-İşcan inequality and the inequality

$$|S'(t\lambda + (1-t)\delta)|^q \leq \frac{\sum_{i=1}^n a_i (1 - (1-t)^i)}{\sum_{i=1}^n a_i} |S'(\lambda)|^q + \frac{\sum_{i=1}^n a_i (1-t^i)}{\sum_{i=1}^n a_i} |S'(\delta)|^q,$$

which is the generalized n -polynomial convex function of the function $|S'|^q$, we get

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\int_0^1 (1-t) |1 - 2t|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (1-t) |S'(t\lambda + (1-t)\delta)|^q dt \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\int_0^1 t |1 - 2t|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 t |S'(t\lambda + (1-t)\delta)|^q dt \right)^{\frac{1}{q}} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 (1-t) [1 - (1-t)^i] dt \right. \\ & \quad \left. + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 (1-t) [1 - t^i] dt \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 t [1 - (1-t)^i] dt \right. \\ & \quad \left. + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \int_0^1 t [1 - t^i] dt \right)^{\frac{1}{q}} \\ & = \frac{b-a}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|f'(a)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} + \frac{|f'(b)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} \right)^{\frac{1}{q}} \\ & \quad + \frac{b-a}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|f'(a)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} + \frac{|f'(b)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} \right)^{\frac{1}{q}}, \end{aligned}$$

where

$$\begin{aligned} \int_0^1 (1-t) |1-2t|^p dt &= \int_0^1 t |1-2t|^p dt = \frac{1}{2(p+1)}, \\ \int_0^1 (1-t) [1-(1-t)^i] dt &= \int_0^1 t [1-t^i] dt = \frac{i}{2(i+2)}, \\ \int_0^1 (1-t) [1-t^i] dt &= \int_0^1 t [1-(1-t)^i] dt = \frac{i(i+3)}{2(i+1)(i+2)}. \end{aligned}$$

□

Corollary 4.13. Taking $n = 1$ in (4.12), we get the following:

$$\begin{aligned} &\left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \tag{4.13} \\ &\leq \frac{\delta - \lambda}{4} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left[\left(\frac{|S'(\lambda)|^q + 2|S'(\delta)|^q}{3} \right)^{\frac{1}{q}} + \left(\frac{2|S'(\lambda)|^q + |S'(\delta)|^q}{3} \right)^{\frac{1}{q}} \right]. \end{aligned}$$

This coincides with the inequality in [7, Theorem 3.2].

Corollary 4.14. Taking $a_i = 1$ ($i = \overline{1, n}$) in (4.12), we get the following:

$$\begin{aligned} &\left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \tag{4.14} \\ &\leq \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{n} \sum_{i=1}^n \frac{i}{2(i+2)} + \frac{|S'(\delta)|^q}{n} \sum_{i=1}^n \frac{i(i+3)}{2(i+1)(i+2)} \right)^{\frac{1}{q}} \\ &\quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{n} \sum_{i=1}^n \frac{i(i+3)}{2(i+1)(i+2)} + \frac{|S'(\delta)|^q}{n} \sum_{i=1}^n \frac{i}{2(i+2)} \right)^{\frac{1}{q}}. \end{aligned}$$

This coincides with the inequality in [13, Theorem 8].

Remark 4.15. (4.12) gives better results than the inequality (4.5). Let us show that

$$\begin{aligned} &\frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} \right)^{\frac{1}{q}} \\ &\quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} \right)^{\frac{1}{q}} \\ &\leq \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left(\frac{2}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \frac{i}{i+1} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q). \end{aligned}$$

Using concavity of the function $h : [0, \infty) \rightarrow \mathbb{R}$, $h(x) = x^\lambda$, $0 < \lambda \leq 1$ by sample calculation we get

$$\begin{aligned} & \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} \right)^{\frac{1}{q}} \\ & + \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i(i+3)a_i}{2(i+1)(i+2)} + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{ia_i}{2(i+2)} \right)^{\frac{1}{q}} \\ \leq & \frac{\delta - \lambda}{2} \left(\frac{1}{2(p+1)} \right)^{\frac{1}{p}} 2 \left[\frac{1}{2} \frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i}{i+1} + \frac{1}{2} \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i}{i+1} \right]^{\frac{1}{q}} \\ = & \frac{\delta - \lambda}{2} \left(\frac{1}{p+1} \right)^{\frac{1}{p}} \left(\frac{2}{\sum_{i=1}^n a_i} \sum_{i=1}^n \frac{i}{i+1} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q), \end{aligned}$$

which is the required.

Theorem 4.16. Let $S : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function on interval I° , $\lambda, \delta \in I^\circ$ with $\lambda < \delta, q \geq 1$ and assume that $S' \in L[\lambda, \delta]$. If $|S'|^q$ is a generalized n -polynomial convex on the interval $[\lambda, \delta]$, then the following holds

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \tag{4.15} \\ \leq & \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2 - \frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_1(i) + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_2(i) \right)^{\frac{1}{q}} \\ & + \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2 - \frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_2(i) + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_1(i) \right)^{\frac{1}{q}}, \end{aligned}$$

where

$$\begin{aligned} M_1(i) & : = \int_0^1 (1-t) |1-2t| [1 - (1-t)^i] dt = \int_0^1 t |1-2t| [1 - t^i] dt \\ & = \frac{(i^2 + i + 2) 2^i - 2}{2^{i+2}(i+2)(i+3)}, \end{aligned}$$

and

$$\begin{aligned} M_2(i) & : = \int_0^1 t |1-2t| [1 - (1-t)^i] dt = \int_0^1 (1-t) |1-2t| [1 - t^i] dt \\ & = \frac{(i+5) [(i^2 + i + 2) 2^i - 2]}{2^{i+2}(i+1)(i+2)(i+3)}. \end{aligned}$$

Proof. Firstly, let $q > 1$. By using the Lemma 4.1, improved power-mean inequality and the property of the generalized n -polynomial convexity of the function $|f'|^q$, we obtain

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \\ & \leq \frac{\delta - \lambda}{2} \left(\int_0^1 (1-t) |1-2t| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 (1-t) |1-2t| |S'(t\lambda + (1-t)\delta)|^q dt \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\int_0^1 t |1-2t| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 t |1-2t| |S'(t\lambda + (1-t)\delta)|^q dt \right)^{\frac{1}{q}} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_1(i) + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_2(i) \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_2(i) + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_1(i) \right)^{\frac{1}{q}}. \end{aligned}$$

For $q = 1$, the proof of the Theorem 4.2 is followed step by step. □

Corollary 4.17. Taking $n = 1$ in (4.15), we get the following inequality:

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \tag{4.16} \\ & \leq \frac{\delta - \lambda}{8} \left[\left(\frac{|S'(\lambda)|^q + 3|S'(\delta)|^q}{4} \right)^{\frac{1}{q}} + \left(\frac{3|S'(\lambda)|^q + |S'(\delta)|^q}{4} \right)^{\frac{1}{q}} \right]. \end{aligned}$$

This coincides with the inequality in [13, Corollary 6].

Corollary 4.18. If we take $a_i = 1$ ($i = \overline{1, n}$) in the inequality (4.15), we get the following inequality:

$$\begin{aligned} & \left| \frac{S(\lambda) + S(\delta)}{2} - \frac{1}{\delta - \lambda} \int_{\lambda}^{\delta} S(z) dz \right| \tag{4.17} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{n_i} \sum_{i=1}^n M_1(i) + \frac{|S'(\delta)|^q}{n} \sum_{i=1}^n M_2(i) \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{n} \sum_{i=1}^n M_2(i) + \frac{|S'(\delta)|^q}{n} \sum_{i=1}^n M_1(i) \right)^{\frac{1}{q}}. \end{aligned}$$

This coincides with the inequality in [13, Theorem 9].

Remark 4.19. (4.15) gives better result than (4.9). If we use the concavity of the function $h : [0, \infty) \rightarrow \mathbb{R}$, $h(x) = x^\lambda$, $0 < \lambda \leq 1$, we get

$$\begin{aligned} & \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_1(i) + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_2(i) \right)^{\frac{1}{q}} \\ & \quad + \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left(\frac{|S'(\lambda)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_2(i) + \frac{|S'(\delta)|^q}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i M_1(i) \right)^{\frac{1}{q}} \\ & \leq \frac{\delta - \lambda}{2} \left(\frac{1}{2} \right)^{1-\frac{2}{q}} \left(\frac{1}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \frac{(i^2 + i + 2) 2^i - 2}{(i+1)(i+2)2^{i+1}} \right)^{\frac{1}{q}} A^{\frac{1}{q}} (|S'(\lambda)|^q, |S'(\delta)|^q), \end{aligned}$$

where

$$M_1(i) + M_2(i) = \frac{(i^2 + i + 2) 2^i - 2}{(i + 1)(i + 2)2^{i+1}},$$

which completes the proof of remark.

5. Applications for special means

Throughout this section, for shortness, the following notations will be used.

1. The arithmetic mean

$$A := A(\lambda, \delta) = \frac{\lambda + \delta}{2}, \quad \lambda, \delta \geq 0.$$

2. The geometric mean

$$G := G(\lambda, \delta) = \sqrt{\lambda\delta}, \quad \lambda, \delta \geq 0.$$

3. The harmonic mean

$$H := H(\lambda, \delta) = \frac{2\lambda\delta}{\lambda + \delta}, \quad \lambda, \delta > 0.$$

4. The logarithmic mean

$$L := L(\lambda, \delta) = \begin{cases} \frac{\delta - \lambda}{\ln \delta - \ln \lambda}, & \lambda \neq \delta \\ \lambda, & \lambda = \delta \end{cases}; \quad \lambda, \delta > 0.$$

5. The p -logarithmic mean

$$L_p := L_p(\lambda, \delta) = \begin{cases} \left(\frac{\delta^{p+1} - \lambda^{p+1}}{(p+1)(\delta - \lambda)} \right)^{\frac{1}{p}}, & \lambda \neq \delta, p \in \mathbb{R} \setminus \{-1, 0\} \\ \lambda, & \lambda = \delta \end{cases}; \quad \lambda, \delta > 0.$$

6. The identric mean

$$I := I(\lambda, \delta) = \frac{1}{e} \left(\frac{\delta^\delta}{\lambda^\lambda} \right)^{\frac{1}{\delta - \lambda}}, \quad \lambda, \delta > 0.$$

It is known that L_p is monotonically increasing over $p \in \mathbb{R}$, denoting $L_0 = I$ and $L_{-1} = L$.

Proposition 5.1. *Let $\lambda, \delta \in [0, \infty)$ with $\lambda < \delta$ and $m \in (-\infty, 0) \cup [1, \infty) \setminus \{-1\}$. Then, the following inequalities are obtained:*

$$\frac{1}{2} \left(\frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n a_i \left[1 - \left(\frac{1}{2} \right)^i \right]} \right) A^m(\lambda, \delta) \leq L_m^m(\lambda, \delta) \leq A(\lambda^m, \delta^m) \frac{2}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \left(\frac{i}{i+1} \right).$$

Proof. The assertion follows from the inequalities (3.1) for the function

$$f(x) = x^m, \quad x \in [0, \infty).$$

□

Proposition 5.2. *Let $\lambda, \delta \in (0, \infty)$ with $\lambda < \delta$. Then, the following inequalities are obtained:*

$$\frac{1}{2} \left(\frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n a_i \left[1 - \left(\frac{1}{2} \right)^i \right]} \right) A^{-1}(\lambda, \delta) \leq L^{-1}(\lambda, \delta) \leq H^{-1}(\lambda, \delta) \frac{2}{\sum_{i=1}^n a_i} \sum_{i=1}^n a_i \left(\frac{i}{i+1} \right).$$

Proof. The assertion follows from the inequalities (3.1) for the function

$$f(x) = x^{-1}, \quad x \in (0, \infty).$$

□

Conclusion 1. In this paper, we give the generalization of the definition of n -polynomial convexity, which will appear for the first time in the literature and study some algebraic properties of this definition. We proved some new Hermite-Hadamard type integral inequalities for the generalized n -polynomial convex functions using an identity together with Hölder's integral inequality. Different types of integral inequalities can be obtained using this new definition.

References

- [1] P. Agarwal, M. Kadakal, İ. İşcan and Y.M. Chu, *Better approaches for n -times differentiable convex functions*, Mathematics, **8** (6), 950, 2020.
- [2] M. Bombardelli and S. Varošanec, *Properties of h -convex functions related to the Hermite-Hadamard-Fejér inequalities*, Comput. Math. Appl. **58**, 1869-1877, 2009.
- [3] S.I. Butt, P. Agarwal, S. Yousaf and J. L. Guirao, *Generalized fractal Jensen and Jensen-Mercer inequalities for harmonic convex function with applications*, J. Inequal. Appl. **2022** (1), 1-18, 2022.
- [4] S.S. Dragomir and RP Agarwal, *Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula*, Appl. Math. Lett. **11**, 91-95, 1998.
- [5] S.S. Dragomir and C.E.M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Its Applications*, RGMIA Monograph , 2002.
- [6] J. Hadamard, *Étude sur les propriétés des fonctions entières en particulier d'une fonction considérée par Riemann*, J. Math. Pures Appl. **58**, 171-215, 1893.
- [7] İ. İşcan, *New refinements for integral and sum forms of Hölder inequality*, J. Inequal. Appl. **2019** (1), 1-11, 2019.
- [8] S. Jain, K. Mehrez, D. Baleanu and P. Agarwal, *Certain Hermite-Hadamard inequalities for logarithmically convex functions with applications*, Mathematics, **7** (2), 163, 2019.
- [9] H. Kadakal, *Hermite-Hadamard type inequalities for trigonometrically convex functions*, Sci. Stud. Res. Ser. Math. Inform. **28** (2), 19-28, 2018.
- [10] M. Kadakal, İ. İşcan, H. Kadakal and K. Bekar, *On improvements of some integral inequalities*, Honam Math. J. **43** (3), 441-452, 2021.
- [11] M. Khaled and P. Agarwal, *New Hermite-Hadamard type integral inequalities for convex functions and their applications*, J. Comput. Appl. Math. **350**, 274-285, 2019.
- [12] C.E.M. Pearce and J. Pečarić, *Inequalities for differentiable mappings with application to special means and Quadrature formulae*, Appl. Math. Lett. **13**, 51-55, 2000.
- [13] T. Toplu, M. Kadakal and İ. İşcan, *On n -Polynomial convexity and some related inequalities*, AIMS Mathematics, **5** (2), 1304-1318, 2020.
- [14] S. Varošanec, *On h -convexity*, J. Math. Anal. Appl. **326**, 303-311, 2007.
- [15] M. Vivas-Cortez, M. A. Ali, H. Budak, H. Kalsoom and P. Agarwal, *Some new Hermite-Hadamard and related inequalities for convex functions via (p, q) -integral*, Entropy, **23** (7), 828, 2021.
- [16] G. Zabandan, *A new refinement of the Hermite-Hadamard inequality for convex functions*, J. Inequal. Pure Appl. Math. **10** (2), Article ID 45, 2009.